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Note : Answer any five questions. All questions 

carry equal marks. 

1. (a) What do you understand by Computer 

Generation ? Briefly discuss 4th, 5th 

and 6th Generations of Computers. 

Also, compare Analog Computer and 

Digital Computer. 1+6+3=10 
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 (b) Describe the term ‘Depreciation 

Accounting’. Also, compare Straight 

Line Method and Diminishing Balance 

Method for Depreciation Accounting. 

   4+6=10 

2. Compare and contrast the following : 4×5=20 

 (a) Compiler and Interpreter 

 (b) Android OS and Window OS 

 (c) Sole Propreitorship and Partnership 

 (d) DSS and MIS 

 (e) NEFT and RTGS 

3. (a) What are the objectives of a DPR 

(Detailed Project Report) ? List and 

explain the various components 

involved in the formulation of DPR. 

    2+2+6=10 
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 (b) Discuss the role of YouTube in business 

development. Also, describe the role of 

Google Adsense in generating revenue 

through YouTube channel. 5+5=10 

4. (a) Which factors contributed to adoption 

of Plastic Money on large scale ? 

Discuss any four e-Payment methods. 

2+8=10 

 (b) How does loan statement differ from 

the lease statement ? List and explain 

the various components of any 

loan/lease statement. 5+5=10 

5. Write short notes on the following : 4×5=20 

 (a) Types of computer networks 

 (b) Types of operating system 
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 (c) GDPR (General Data Protection 

Regulation) 

 (d) CAPTCHA code and its purpose 

 (e) Types of Internet services 

6. Distinguish between the following : 4×5=20 

 (a) ccTLD and gTLD 

 (b) WAN and LAN 

 (c) NPV and IRR 

 (d) Current Ratio and Quick Ratio 

 (e) Authorization and Authentication (with 

respect to IT security) 

7. (a) When do we use mail merge ? Describe 

the components of mail merge. Why is 

it required to create a data source ? 

Explain. 2+4+4=10 
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 (b) Explain the following with suitable 

example for each : 2×5=10 

  (i) Net Profit Ratio 

  (ii) Gross Profit Ratio 

  (iii) Identity theft 

  (iv) e-Wallets 

  (v) Open source softwares 

   

8. (a) In the context of any spreadsheet 

package, answer the following : 4×3=12 

  (i) How do functions differ from 

formulas ? 

  (ii) Differentiate between Formulae 

and Array formulae. 

  (iii) Compare absolute addressing and 

relative addressing. 
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 (b) What is an operating system ? List the 

functions of operating system. Also, 

explain any one of the listed functions. 

   3+2+3=8 
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 BCOS–183 

okf.kT; esa Lukrd (lkekU;)  

[(ch- dkWe- (th-)] 

l=kar ijh{kk  

twu] 2025 

ch-lh-vks-,l-&183 % O;kikj esa dEI;wVj dk vuqiz;ksx 

le; % 3 ?k.Vs  vf/kdre vad % 100  

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad 

leku gSaA 

1- (v) dEI;wVj ih<+h ls vki D;k le>rs gSa \ dEI;wVj dh 

pkSFkh] ik¡poha vkSj NBh ih<+h ij la{ksi esa ppkZ    

dhft,A ,ukykWx dEI;wVj vkSj fMftVy dEI;wVj 

dh rqyuk Hkh dhft,A 1+6+3=10 
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 (c) ^ewY;Îkl ys[kkadu* 'kCn dk o.kZu dhft,A blds 

vykok] ewY;Îkl ys[kkadu ds fy, lh/kh js[kk fof/k 

vkSj Îkleku 'ks"k fof/k dh rqyuk dhft,A4+6=10 

2- fuEufyf[kr dh rqyuk dhft, ,oa vUrj crkb, % 

  4×5=20 

 (v) daikbyj vkSj nqHkkf"k;k 

 (c) ,aMªkbM vkWijsfVax flLVe vkSj foaMks vkWijsfVax 

flLVe 

 (l) ,dy LokfeRo vkSj lk>snkjh 

 (n) Mh-,l-,l- vkSj ,e-vkbZ-,l- 

 (b) ,u-bZ-,Q-Vh- vkSj vkj-Vh-th-,l- 
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3- (v) Mh-ih-vkj- (foLrkj ifj;kstuk fjiksVZ) ds mís'; 

D;k gSa \ Mh-ih-vkj- ds fuekZ.k esa 'kkfey fofHkUu 

?kVdksa dh lwph cukb, vkSj le>kb,A 2+2+6=10 

 (c) O;olk; fodkl esa ;wV~;wc dh Hkwfedk ij ppkZ 

dhft,A lkFk gh] ;wV~;wc pSuy ds ek/;e ls jktLo 

mRiUu djus esa Google Adsense dh Hkwfedk dk 

o.kZu dhft,A 5+5=10 

4- (v) cM+s iSekus ij IykfLVd euh dks viukus esa fdu 

dkjdksa us ;ksxnku fn;k \ fdUgha pkj bZ&Hkqxrku 

fof/k;ksa dh ppkZ dhft,A 2+8=10 

 (c) ½.k fooj.k iêk fooj.k ls fdl izdkj fHkUu gS \ 

fdlh Hkh ½.k@iêk fooj.k ds fofHkUu ?kVdksa dks 

lwphc¼ dhft, vkSj le>kb,A  5+5=10 
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5- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 4×5=20 

 (v) dEI;wVj usVodZ ds izdkj 

 (c) vkWijsfVax flLVe ds izdkj 

 (l) th-Mh-ih-vkj- (lkekU; MsVk laj{k.k fofu;eu) 

 (n) dSIpk dksM vkSj bldk mís'; 

 (b) baVjusV lsokvksa ds izdkj 

6- fuEufyf[kr esa varj crkb, % 4×5=20 

 (v) lh-lh-Vh-,y-Mh- vkSj th-Vh-,y-Mh- 

 (c) oSu vkSj ySu 

 (l) ,u-ih-oh- vkSj vkbZ-vkj-vkj- 

 (n) orZeku vuqikr vkSj Rofjr vuqikr 

 (b) izkf/kdj.k vkSj izek.khdj.k (vkbZ-Vh- lqj{kk ds 

laca/k esa) 
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7- (v) esy etZ dk mi;ksx ge dc djrs gSa \ esy etZ ds 

?kVdksa dk o.kZu dhft,A MsVk lzksr cukuk D;ksa 

vko';d gS \ O;k[;k dhft,A 2+4+4=10 

 (c) izR;sd ds fy, mi;qDr mnkgj.k ds lkFk 

fuEufyf[kr dh O;k[;k dhft, % 2×5=10 

  (d) 'kq¼ ykHk vuqikr 

  ([k) ldy ykHk vuqikr 

  (x) pksjh dh igpku 

  (?k) bZ&okWysV 

  (³) vksiu lkslZ lkW¶Vos;j 

8- (v) fdlh Hkh LizsM'khV iSdst ds lanHkZ esa fuEufyf[kr 

ds mÙkj nhft, % 4×3=12 

  (d)  QaD'ku lw=ksa ls fdl izdkj fHkUu gS \ 
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  ([k) lw=ksa vkSj lj.kh lw=ksa ds chp varj dhft,A 

  (x) fujis{k lacks/ku vkSj lkis{k lacks/ku dh rqyuk 

dhft,A 

 (c) vkWijsfVax flLVe D;k gS \ vkWijsfVax flLVe ds 

dk;ks± dh lwph cukb,A lwphc¼ dk;ks± esa ls fdlh 

,d dh O;k[;k dhft,A 3+2+3=8 

× × × × × 

 

 

 

 

 

 

 

 

 


